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Answer1

P is the point on AB such that AP:PB=3:1

(b) Find OP in terms of a and b.
Give your answer in its simplest form.

—> —> =
OFY = OA + AP
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Answer 2

9
(b) Express NR in terms of a and b.
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Answer 3

(b) Work out a + 2b as a column vector.
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Answer 4

B
Vectonrs J
_ P
b 4_ Diagram NOT
accurately drawn
&5
) —
0 =a A A,? = E_x /d{ g
-
OAB is a triangle.
Od=a
OB=b
(a) Find AB in terms of a and b.
—> -
B e W ’O b .
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Answer 5
. .
/ecTors
Diagram NOT
accurately drawn
PQRS is a parallelogram. - e >~ ==
N is the point on SQ such that SN : NO 3 : 2 f\)& = =S8 &
—>» >
PQO=a
%
PS =b
%
(a) Write down, in terms of a and b, an expression for SQ.
— = —
CR = ST +7PQR = —-b +a 3. A-b
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Answer 6

- -
X is the point on 4B such that AX: XB = 1:2 A,X E X k@

|
- 2
and BY =5a—b

*(b) Prove that OX = %5}7
= =25 = = —5 x>
Ox = Ok + AX oY = OB +BY
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Answer 7

p b r \/h orS

Y

Diagram NOT
accurately drawn

0 >

OPTR is a trapezium.

—
OP=a
—
PT =b
—
OR =3b

(a) (1) Find OT in terms of a and b

> —= —>
O7T = OF « YT
CF)_; = O < b

(i1) Find PR in terms of a and b
Give your answer in its simplest form.

—> —> —>
e = ro +ok
—

,/L =

7

—o. + b
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Answer 8

*(c) What does your answer to part (b) tell you about the position of point 5?7

—=
ngC/(? LT = //’k-&'b
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Answer 9

\VECToes

— e) Diagram NOT
accurately drawn

A M B
> —
0OA =6a and OB =6b —_ -
M is the midpoint of AB. —> A,M/( - ..%/-K AR
s —_ s .
(a) Write OM in terms of a and b. _ % 2
Give your answer in its simplest form. AE - k@ <ol
S T e
OM = OA + }’\‘V?\ = -éa -f‘éb
== '
T—OE 5 A =¥ 5 iy~ &
[ e
= bo + -1(62'* 69\,)

"’6& § 4 3\'_—:_:??;\
FCJ?M = Qo +2b
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Answer 10
\/EcTore S 5
S5a—b
Y
6b
x
A 3a C
CAYB is a quadrilateral.
C4 =3a

{
Ci AX = 3 x AR
CB =6b .
—
BY =5a-b > — 2
A, = L Al + R
X is the point on 4B such that AX: XB=1:2 p4

Provcthat&=§a’ = L <'3c}\’{'é£’>_
- = S =
Cx = CA + AX (v = CB «RY
- =
E;: ?a—r‘ggﬁk'ﬁéE) = GL +Sa-b
~_
= S. +56
= So. — a_+ b o

= 2o +2b -
— 3,, oy = & k/S/(&%L
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_ )
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2 77 _ 7
’;:C““f = (X
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Answer N

B is the midpoint of AC.
M is the midpoint of PB.

*(b) Show that NMC is a straight line.

SHA = N9+ P
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A Streacqt LINE
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Answer 12

*(b) Prove that OND is a straight line.

=555 = =53
OD = OA + KD
= 4 2 Zb
e ——
__7
od = ZL+ia
|
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SHew TrHar
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Answer 13

\/ecTors
F_DiagramNOT
A X accurately drawn
F E
ACEF is a parallelogram. INE22 T; Qf‘(ﬂw
B is the midpoint of AC. — —>
is the midpoint of BE. - = bxA YA
ﬂi}lsteml pil_r;lto BE (e AT /A(D »EA
CB=a Uk =On L
%
ED=b
DC=2b
Show that AMD is a straight line. N = —_ -
,__0\1_)%@{; - -la —2b
Y +{(Ec « CE —-'Z(au—b)
VA
¢ ( — ,ZL) 2
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Answer 14

N
Lo~
A
o
0 G4l B
M
OAN, OMB and APB are straight lines.
AN =204.
M is the midpoint of OB.
04 = OB = - -
o=y ~B Nyt MM (S /{‘MUL’{'—(?&C’”'

I —_— e
AP = kAB where k is a scalar quantity.

. o oe Mp
Given that MPN is a straight line, Tind the value of k. :

MO - MD + on

= -l bt Sa
T — -
. Qo -Lb AR = AD oL
) -3
- = e gy = '—k'('_lﬂ
MP = mo t 0A <« AP e o
B ~R -

2= M) +«0A t RAR

e el b v tlb-ka .
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- - k-3 (- =3 -6k
=
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Answer 15

Diagram NOT
accurately drawn

APB is a triangle.

N is a point on AP.
—> —> —>
AB =a AN =2b NP=b

(a) Find the vector P_ﬁ in terms of a and b.

O—> > e

RE = PA + AR

- a -3b
= i b == 2, b + a N =
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